H
S
o

a(d cot(B))

1072

9 +vof y 9 +vof
IS r : IS r
o L 11 o L
HT M H 1T HE 1 1T
F | : i i f F | |
0923210 1 2 3 0923 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__CKF_ORIG
—e— DQM_TT__CKFandPLess_ORIG
—— DQM_TT__CKFandPLess_MODIF
. P —
IS 1S i
= e
S =
S S
=t 5
1072
107%E::
SO | PR P DU R FUURN SURUN
T x | | | i | T F |
o L 4 J | | | 14 [ |
1:.. + | ‘ | |: 1:.." *‘? k4 o1
09531 0 1 2 3 095375 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

=

2 3
TP n (PCA to beamline)



	Contents
	Page 1


